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Exam 1 Spring 2010

U number_________________________

Psych Stats Spring 2010 Brannick  Exam 1

Instructions:  Write your name, U number, and section number on the scantron; bubble them in.  Answer any 40 of 45 questions on the exam by bubbling in the best of the four alternatives given.  For those questions you wish to omit, bubble in “e.”  If you answer all 45, I will choose the last 5 for you, so it is in your interest to pick 5 and bubble in “e”. You keep the questions (test booklet); turn in the scantron.  
	Handy formulas:
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	A=(z*100)+500

T=(z*10)+50

z=(A-500)/100

z=(T-50)/10

A=10T
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Tabled values of z, the unit (standard) normal.

	Z
	Between mean and z
	Beyond z
	
	Z
	Between mean and z
	Beyond z

	0.00
	0.0
	50.00
	
	0.90
	31.5
	18.41

	0.10
	3.98
	46.02
	
	1.00
	34.13
	15.87

	0.20
	7.93
	42.07
	
	1.10
	36.43
	13.57

	0.30
	11.79
	38.21
	
	1.20
	38.49
	11.51

	0.40
	15.54
	34.46
	
	1.30
	40.32
	09.68

	0.50
	19.15
	30.85
	
	1.40
	41.92
	08.08

	0.60
	22.57
	27.43
	
	1.50
	43.32
	06.68

	0.70
	25.80
	24.20
	
	1.60
	44.52
	05.48

	0.80
	28.81
	21.19
	
	1.70
	45.54
	04.46


Chapter 2 Stats and Research Process
1. The entire group of people we want to study is called the  _________.
a. nation

b. population

c. sample

d. whole

2.  The individuals included in the sample are called ________
a. lucky

b. participants

c. people

d. population

3.  The distributions of numbers that we examine in a study are measures that represent characteristics or attributes called __________
a. inferences

b. items

c. nominals



d. variables

4.  In statistics, the parameter refers to numerical summary of a distribution in the _____ 
a. items

b. people

c. population

d. sample

5. Bill and Joe argue whether drivers of BMW or Mercedes Benz automobiles are more lawless.  They settle the argument by going to the intersection of Fowler and 56th  for four hours and counting the number of cars of each type that run a red light.  In this study, the dependent variable is
a. Bill vs. Joe

b. Number of cars that run the red light

c. Type of car

d. Type of driver

6. How can we tell if a study is an experiment?
a. Both independent and dependent variables are measured

b. The dependent variable is characterized by multiple treatments

c. The dependent variable is manipulated by the researcher

d. The independent variable is manipulated by the researcher

7. The difference between continuous and discrete numbers is that discrete numbers_____
a. Allow decimals

b. Are valorous

c. Correspond only to labels

d. Only allow whole numbers

8. We do a study to see if putting professional quality pictures of food in menus affects what people decide to eat at a restaurant.  People at different tables are secretly given different menus; each set (table) of menus has the same pictures, but the different tables get different pictures.  We record which people got which menus and then we record what people actually ordered to see if the pictures in the menus are associated with the things people order.  In this study, what is the independent variable?
a. The foods listed on the menus

b. The pictures within the menus

c. The waiters and waitresses

d. What people order

Chapter 3 Frequencies and percentiles
Consider the following scores:  2, 4, 6, 8, 10, 10, 10, 10 for the next 3 questions
9. For the above set of scores, what is N?
a. Cannot be determined

b. 4
c. 8
d. 10
10. For the above set of scores, what is the percentage (relative frequency) of 10s?
a. 10
b. 40
c. 50
d. 90
11. For the above distribution, what is the frequency (f) of 10?
a. 1
b. 4
c. 8
d. 10
12. The extremes of the distribution are called the  _____ .
a. bell curve

b. ends

c. outskirts

d. tails
13. The main difference between a histogram and a bar graph is that the bars in the histogram _____.
a. are ordinal
b. represent relative frequency
c. touch each other

d. wander

14. In a positively skewed distribution, the long tail is toward _____
a. The high numbers
b. The low numbers
c. The median
d. The participants

15. In the normal curve, what is the relation between the mean, median, and the mode?
a. All are the same place in the distribution

b. Mean is greater than the median, which is greater than the mode

c. Mode is between the median and the mean

d. Mode is greater than the median, which is greater than the mean
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16. The boxplot shown above is the distribution of siblings (brothers+sisters) for an undergraduate class at USF.  The shape of the distribution is best described as
a. Bimodal

b. Negatively skewed

c. Normal

d. Posititively skewed

17. In the siblings boxplot above, what is the maximum number of siblings in the class?
a. 2
b. 6
c. 9
d. 78
18. In the siblings boxplot above, what is the median number of siblings?
a. 1
b. 2
c. 3
d. 6
Chapter 4 Central Tendency
Consider the following distribution of scores:  1, 2, 2, 3, 3, 3, 7
19. What is the mode of the distribution?

a. 1

b. 2

c. 3

d. 4

20. What is the median of the distribution?

a. 1

b. 2

c. 2.5

d. 3

21. What is the mean of the distribution?

a. 1

b. 2

c. 2.33
d. 3

22. Suppose we find a distribution of scores that has a mean of 5.5.  If we go back to the original numbers and add 5 to each one, what will happen to the new mean?
a. Have to know specific original numbers to compute the new mean

b. Larger by 5 than the old mean
c. Larger by an unknown amount

d. Old mean multiplied by 5

23. Suppose we have a distribution of numbers and we compute the following sum:
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.  What will the result be?

a. Depends upon the mean

b. Depends upon the original distribution

c. Depends upon the specific operation

d. Zero

24. Suppose your raw score is 10 and the mean is 0.  What is your deviation score?
a. -10
b. 0
c. 1
d. 10
25. The symbol for the sample mean is:

a.  
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b.  
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	Descriptives

	
	Statistic
	Std. Error

	Age
	Mean
	21.8786
	.47453

	
	95% Confidence Interval for Mean
	Lower Bound
	20.9420
	

	
	
	Upper Bound
	22.8153
	

	
	5% Trimmed Mean
	20.8237
	

	
	Median
	20.0000
	

	
	Variance
	38.956
	

	
	Std. Deviation
	6.24148
	

	
	Minimum
	17.00
	

	
	Maximum
	49.00
	

	
	Range
	32.00
	

	
	Interquartile Range
	4.00
	

	
	Skewness
	2.866
	.185

	
	Kurtosis
	8.369
	.367


SPSS output the above table for the variable Age in Years for a class of undergraduates at USF. 
26. How old is the average student in the class (what is the mean)?
a. 20.00
b. 20.94
c. 20.82
d. 20.88
Chapter 5  Variability

27. How old is the oldest student in the class (see the Age table above question 26)?
a. 17
b. 20
c. 20.88
d. 49
28. What is the metric (unit) of the variance for the Age table?
a. years
b. years squared
c. 2.87
d. Kurtosis
29.  For the Age table, how many years separate the 25th percentile from the 75th percentile?
a. 2
b. 2.87
c. 4
d. 8.37
30. If we want to ESTIMATE the population variance from data in our sample, we should divide the sum of squared deviations from the mean by:
a. N
b. N-1
c. 
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31. Consider the following distribution of scores:  1, 2, 2, 3, 5, 7, 8, 10, 21.  What is the range?
a. 1
b. 9
c. 10
d. 20
32. If scores are normally distributed, about what percentage of the total scores will be within +- one standard deviation from the mean?
a. 32
b. 34
c. 68
d. 72
33. Suppose we have found the variance of a distribution.  What must we do to find the standard deviation?
a. Divide by N

b. Double it

c. Square it

d. Take the square root

34. In an experiment, if we want to show a strong effect there should be ______ variability within groups?
a. error

b. large 

c. little

d. uneven

The following graph shows boxplots for 4 different groups.

[image: image18.emf]
35. Referring to the graph above (previous page), which group appears to have the distribution with the smallest variance?

a. 1
b. 2
c. 3
d. 4
36. The standard deviation can be described in words as the  
a. Root-mean-square deviation from the mean

b. Standard normal distribution

c. Variance squared

d. Z score 

Chapter 6  z-scores, Normal Curve
37. On a recent stats quiz, the mean was 70 and the standard deviation was 10. Suppose Jane’s raw score was 70.  What was her z score?

a. -1
b. 0
c. 1
d. 60
38. What z score from the standard normal separates the top 30 percent of scores from the bottom 70 percent?

a. 0
b. .5
c. .7
d. 1
39.  Suppose that 
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 = 8, 
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=1, and z is 2.  What is X? 
a. 8
b. 10
c. 12
d. 14
40. Suppose a person tells you their SAT Verbal score (this is an A score) is 400.  What can you say about their score?
a. It is above average

b. It is average

c. It is below average

d. They got it by cheating

41. About what percentage of people score below 400 on the SAT-V? 
a. 16
b. 23
c. 35
d. 37
42. A sampling distribution is the distribution of a _____ over all possible samples of a given size.
a. interval scale

b. parameter

c. participant

d. statistic

43. The equation 
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 describes what statistical concept?
a. Relations between the z score and the raw score

b. Standard deviation of the data

c. Standard error of the mean

d. Transformation of the sample mean

44. What happens to the sampling distribution of the mean when the sample size increases?
a. Mean decreases

b. Mean increases

c. Standard deviation decreases

d. Standard deviation increases

45. A person’s raw score is 100, the mean is 110, and the standard deviation is 2.  What is the z score?

a. -10

b. -5

c. -2

d. 2
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